575 <Hp < 1000 GeV

N;, Ny Mr; [GeV] Z— v Lost lepton Multijet Total background Data
200 —300 | 885 +1i(stat.) Tara(syst) | 627 Tio(stat.) +114(syst.) 62 +1(stat.) £29(syst.) 1574 +19(stat.) +§§§(syst.) 2026
) 300 — 400 453 *8(stat.) *5)(syst.) 209 +5(stat.) £39(syst.) 5.7 +£0.3(stat.) £3.2(syst.) 668 £8(stat.) *g5(syst.) 878
2-3j,0b 400 — 600 | 387 £5(stat.) *10 (syst.) 145 +4(stat.) +37(syst.) 1.0 £0.1(stat.) +0.7(syst.) 533 +6(stat.) +10§(syst ) 721
600 — 800 79 +1(stat.) £27(syst.) 22 +1(stat.) £7(syst.) 0.03 £0.01(stat.) 0.02(syst.) 101 £1(stat.) +:28(syst.) 123
> 800 7.1 £0.1(stat.) +32(syst) 1.6 £0.0(stat.) £0.7(syst.) | 0.00 T30} (stat.) £0.00(syst.) | 8.8 +£0.1(stat.) £3.2(syst.) 5
200 — 300 134 E4(stat.) T35 (syst.) 107 +6(stat.) +£21(syst.) 22 +0(stat.) £11(syst.) 263 T5(stat.) T30 (syst.) 337
. 300 — 400 62 +2(stat.) fg(syst.) 38 +2(stat.) £7(syst.) 2.0 +0.1(stat.) +-1.2(syst.) 102 +3(stat.) *14(syst) 138
2-3j,1b 400 — 600 57 £2(stat.) F1S(syst.) 29 +2(stat.) +8(syst.) 0.4 +0.0(stat.) +0.2(syst.) 86 +2(stat.) +17(syst.) 105
600 — 800 14 +0(stat.) +5(syst.) 4.3 103 (stat) £1.6(syst) | 0.01 )51 (stat.) +£0.01(syst.) 18 +1(stat.) :t5(syst) 26
> 800 1.3 £0.0(stat.) £0.6(syst.) | 0.2 £0.0(stat.) +=0.1(syst.) | 0.00 £0.00(stat.) £-0.00(syst.) 1.5 +0.0(stat.) %" (syst) 1
200 — 300 12 +z(stat ) £5(syst.) 10 £2(stat.) +3(syst.) 3.3 +0.1(stat.) +-2.0(syst.) 26 +2(stat.) :t6(syst) 26
2-3j,2 300400 | 65 +3§(stat ) £2.6(syst) | 3.1 0%(stat.) £0.9(syst.) 0.3 £0.0(stat.) +£0.2(syst.) 10 +1(stat.) +3(syst.) 13
400 - 600 | 6.3 T08(stat) £2.9(syst) | 2.0 tgg(stat ) £0.7(syst.) 0.1 £0.0(stat.) £0.0(syst.) 8.3 T0-3(stat.) £3.0(syst.) 6
> 600 1.2 T02(stat.) +£0.7(syst.) | 0.2 +0.0(stat.) £0.1(syst.) | 0.00 £0.00(stat.) £0.00(syst.) | 1.4 *{3(stat.) £0.7(syst.) 1
200 —300 | 700 £10(stat.) T13(syst) | 765 T1o(stat.) +£131(syst.) 273 £5(stat.) £105(syst.) 1738 tg(stat) +§§3(syst) 1946
300 — 400 293 +4(stat.) +60(syst) 239 +6(stat.) £45(syst.) 25 +1(stat.) £12(syst.) 557 +7(stat.) 178 (syst) 665
4 —6j, 0b 400 — 600 210 +3(stat.) +56(syst ) 116 +3(stat.) +30(syst.) 4.5 +0.4(stat.) +2.6(syst.) 331 +4(stat.) j > (syst.) 408
600 — 800 36 +1(stat.) T13(syst.) 12 +0(stat.) +4(syst.) 0.1 F)-(stat.) £0.1(syst.) 48 +1(stat.) ilB(syst) 47
> 800 2.5 £0.0(stat.) £1.1(syst.) | 0.5 +0.0(stat.) £0.2(syst.) | 0.01 0 3(stat.) £0.01(syst.) | 3.0 £0.0(stat.) F1%(syst.) 4
200 — 300 172 £5(stat.) T4 (syst.) 350 +12(stat.) +61(syst.) 133 £3(stat.) £57(syst.) 655 +13(stat.) +93(syst) 622
4—6j1b 300 — 400 73 +2(stat.) 1}g(syst) 88 +3(stat.) £19(syst.) 12 +1(stat.) +6(syst.) 173 +4(stat.) *22(syst.) 221
400 — 600 50 f%(stat.) +16(syst.) 36 +1(stat.) £11(syst.) 2.2 +0.2(stat.) +1.3(syst.) 88 +2(stat.) £20(syst.) 107
> 600 8.6 £0.3(stat.) +3.8(syst.) | 2.8 £0.1(stat.) +1.3(syst.) 0.1 £0.0(stat.) +0.0(syst.) 11 +0(stat.) =4(syst.) 16
200 — 300 29 +2(stat.) £11(syst.) 159 £8(stat.) +-28(syst.) 35 +1(stat.) £18(syst.) 223 +8(stat.) £35(syst.) 202
4-6,2b 300 — 400 12 £1(stat.) -4(syst.) 38 +2(stat.) £8(syst.) 3.2 +0.1(stat.) +1.9(syst.) 53 +2(stat.) £9(syst.) 68
’ 400 — 600 11 £1(stat.) +5(syst.) 13 +1(stat.) +-4(syst.) 0.6 +0.0(stat.) -0.4(syst.) 24 +1(stat.) £6(syst.) 21
> 600 1.2 +0.1(stat.) £0.7(syst.) 1.0 +Ol(stat) +0.6(syst.) 0.02 +0.01(stat.) +0.01(syst.) | 2.3 £0.1(stat.) £0.9(syst.) 5
200 — 300 32 +2(stat.) +13(syst ) 62 T7(stat.) +£13(syst.) 13 £0(stat.) £6(syst.) 107 +7(stat.) 720 (syst.) 137
>7j,0b 300 — 400 11 £1(stat.) 7 (syst.) 18 +2(stat.) £5(syst.) 1.2 +0.1(stat.) £0.7(syst.) 30 +2(stat.) £7(syst.) 49
> 400 8.1 04 (stat.) +44(syst) 5.8 107 (stat.) £2.6(syst.) 0.2 +£0.0(stat.) £0.1(syst.) 14 +1(stat.) *3(syst.) 18
200 — 300 13 *2(stat) i »(syst.) 102 £6(stat.) +18(syst.) 8.2 £0.2(stat.) +4.3(syst.) 123 fb(stat.) +20(syst.) 133
>7,1b 300 — 400 6.2 fo_g(s’cat +“‘(syst ) 17 £1(stat.) £5(syst.) 0.7 £0.0(stat.) 0.5(syst.) 24 +1(stat.) *2 (syst ) 30
> 400 2.5 £0.3(stat.) T1¢(syst) | 5.3 £0.3(stat.) £2.4(syst.) 0.1 £0.0(stat.) £0.1(syst.) 7.9 T03(stat.) T35 (syst.) 7
200 — 300 10 £2(stat.) +6(syst.) 72 T(stat.) £13(syst.) 2.8 +0.1(stat.) =1.7(syst.) 85 +5(stat.) j}‘;(syst) 72
>7,2b 300 —400 | 3.2 *0%(stat.) T25(syst.) 16 +1(stat.) +4(syst.) 0.3 £0.0(stat.) £0.2(syst.) 19 +1(stat.) +5(syst.) 16
> 400 1.0 £0.2(stat.) £0.8(syst.) | 2.5 703(stat.) +1.2(syst.) | 0.05+0.00(stat.) +:0.04(syst.) | 3.5 T03(stat.) +1.4(syst.) 2
200 —300 | 2.1 F0%(stat.) £1.6(syst.) 24 i3(stat ) £5(syst.) 5.3 +£0.1(stat.) +£4.2(syst.) 31 Ti(stat.) £7(syst.) 35
2-6,>3b | 300-400 | 0.5 *(4(stat) £0.4(syst) | 6.2 F)3(stat.) +1.8(syst.) 0.5 +£0.0(stat.) +£0.4(syst.) 7.2 F03(stat.) £1.9(syst.) 12
> 400 1.6 To3(stat.) +£1.3(syst) | 2.3 +0.3(stat.) £1.1(syst.) 0.1 £0.0(stat.) 0.1(syst.) 4.0 708 (stat.) 17 (syst.) 3
200 — 300 2.7 T35(stat.) T37(syst.) 27 +2(stat.) £6(syst.) 0.7 £0.0(stat.) £0.6(syst.) 30 t‘*(stat.) tg(syst.) 20
>7j,>3b 300 — 400 0.5 "0 (stat.) +09(syst ) | 6.0 +0.4(stat.) +2.0(syst.) 0.1 £0.0(stat.) £0.1(syst.) 6.6 70 S(Stat ) £2.2(syst.) 2
> 400 0.2 tg_f(stat) H05(syst) | 1.1 £0.1(stat.) +£0.6(syst.) | 0.01 £0.00(stat.) £0.01(syst.) | 1.2 +Oz(stat) +0.7(syst.) 1



